


...
Write X=1
...

Read X Write Y=1

Proc 1 Proc 2

Initially X=Y=0

Read Y







   for (i=0; i<10; i++) sum += result[i];

   wait(flag);

   barrier();
}

   if (MYPROC == 0) {
      for (i=0; i<10; i++) result[i] = i;

   int i, sum = 0;

main() {

shared int result[10];
shared event flag;

      post(flag);
   }



Segment 1 Segment 2 Segment 3

Read A

Read B

Write C

Read A

Read C

Write B

Write C

Write A

Write B









 Read numTrans

 Write numTrans

 Read fund

 Write fund

 Read turn

 Write turn

 Read numTrans

 Write numTrans

 Read fund

 Write fund

 Read turn

 Write turn

while (turn != MYPROC);

numTrans++;

fund += giftAmt;

turn++;

Code:

Transformed Graph:



if (foo()) {

}

x = X

   y = x + 1

Z = 1

y = 2

y = 2

if (foo()) {

   y = x + 1;
}

z = 1

get(&x, &X, ctr1)

   sync_ctr(ctr1);

sync_ctr(ctr1);
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